P2, Physics 12


Worksheet-14


Student Name _________________

1. Which of the following statements are true about power? Include all that apply.
a. Power is a time-based quantity.
b. Power refers to how fast work is done upon an object.
c. Powerful people or powerful machines are simply people or machines which always do a lot of work.
d. A force is exerted on an object to move it at a constant speed. The power delivered by this force is the magnitude of the force multiplied by the speed of the object.
e. The standard metric unit of power is the Watt.
f. If person A and person B do the same job but person B does it faster, then person A does more work but person B has more power.
g. The Newton•meter is a unit of power.
h. A 60-kg boy runs up a 2.0 meter staircase in 1.5 seconds. His power is approximately 80 Watt.
i. A 300-Newton force is applied to a skier to drag her up a ski hill at a constant speed of 1.5 m/s. The power delivered by the toe rope is 450 Watts.
2. A job is done slowly, and an identical job is done quickly. Both jobs require the same amount of ____, but different amounts of ____. Pick the two words which fill in the blanks in their respective order.
	a. energy, work
	b. power, work
	c. work, energy
	d. work, power

	e. power, energy
	f. force, work
	g. power, force
	h. none of these
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1. Which of the following statements are true about power? Include all that apply.
j. Power is a time-based quantity.
k. Power refers to how fast work is done upon an object.
l. Powerful people or powerful machines are simply people or machines which always do a lot of work.
m. A force is exerted on an object to move it at a constant speed. The power delivered by this force is the magnitude of the force multiplied by the speed of the object.
n. The standard metric unit of power is the Watt.
o. If person A and person B do the same job but person B does it faster, then person A does more work but person B has more power.
p. The Newton•meter is a unit of power.
q. A 60-kg boy runs up a 2.0 meter staircase in 1.5 seconds. His power is approximately 80 Watt.
r. A 300-Newton force is applied to a skier to drag her up a ski hill at a constant speed of 1.5 m/s. The power delivered by the toe rope is 450 Watts.
2. A job is done slowly, and an identical job is done quickly. Both jobs require the same amount of ____, but different amounts of ____. Pick the two words which fill in the blanks in their respective order.
	a. energy, work
	b. power, work
	c. work, energy
	d. work, power

	e. power, energy
	f. force, work
	g. power, force
	h. none of these


3. Which requires more work: lifting a 50.0 kg crate a vertical distance of 2.0 meters or lifting a 25.0 kg crate a vertical distance of 4.0 meters?
	a. lifting the 50 kg crate
	b. lifting the 25 kg crate

	c. both require the same amount of work
	


4. A 50.0 kg crate is lifted to a height of 2.0 meters in the same time as a 25.0 kg crate is lifted to a height of 4 meters. The rate at which energy is used (i.e., power) in raising the 50.0 kg crate is ____ as the rate at which energy is used to lift the 25.0 kg crate.
	a. twice as much
	b. half as much
	c. the same


5. Using 1000. J of work, a small object is lifted from the ground floor to the third floor of a tall building in 20.0 seconds. What power was required in this task?
	a. 20 W
	b. 50 W
	c. 100 W 
	d. 1000 W
	e. 20000 W


3. Which requires more work: lifting a 50.0 kg crate a vertical distance of 2.0 meters or lifting a 25.0 kg crate a vertical distance of 4.0 meters?
	a. lifting the 50 kg crate
	b. lifting the 25 kg crate

	c. both require the same amount of work
	


4. A 50.0 kg crate is lifted to a height of 2.0 meters in the same time as a 25.0 kg crate is lifted to a height of 4 meters. The rate at which energy is used (i.e., power) in raising the 50.0 kg crate is ____ as the rate at which energy is used to lift the 25.0 kg crate.
	a. twice as much
	b. half as much
	c. the same


5. Using 1000. J of work, a small object is lifted from the ground floor to the third floor of a tall building in 20.0 seconds. What power was required in this task?
	a. 20 W
	b. 50 W
	c. 100 W 
	d. 1000 W
	e. 20000 W


